Chapter 5 Section 1 Answers: pg 222 – 224 

1. Terminating decimal

2. Repeating decimal

3. Terminating decimal

4. Repeating decimal

5. Sample answer: If you can write the number as a quotient of two integers, it is rational. Otherwise, it is not rational.

6. 15/1

7. -2/1 or 2/-1

8. 39/7

9. -4/3 or 4/-3

10. 0.2 (2 over lined)

11. 1.8

12. -0.86 (6 over lined) 

13. -9.625

14. 2/5

15. 81/250

16. 26/33

17. 2 2/3

18. The girl’s team

19. Only the “78” repeats, so these are the only digits that should be under the bar: 5.0787878…. = 5.078 (78 over lined)

20. 24/1

21. -29/1 or 29/-1

22. 97/18

23. -1/8 or 1/-8

24. 1/1

25. -17/7 or 17/-7

26. 3/10

27. 87/100

28. 0.2

29. -0.875

30. -1.6 (6 over lined)

31. 3.16 (6 over lined)

32. 3.16

33. -1.18 (18 over lined)

34. 8.1136 (36 over lined)

35. -13.7

36. 27/50

37. 63/100

38. 7 3/5

39. 2 93/1000

40. -17/20

41. 19/1000

42. -5 179/200

43. -1 151/500

44. My collection

45. a) Nov.: 8/25, Dec.: 17/45, Jan.: 7/10, Feb.: 39/55, Mar.: 107/150    b) 0.32, 0.37 (7 over lined), 0.7, 0.709 (09 over lined), 0.713 (3 over lined); March    c) Sample answer: I think it increased recycling efforts. Before January 1, the portion of trash recycled was less than 0.4. After January 1, the portion recycled was at least 0.7.

46. Always

47. Sometimes

48. Always

49. 8/9

50. 7/9

51. – 4/9

52. -9 2/3

53. 4/33

54. -1 4/11

55. 299/333

56. 2 707/999

57. -2, 0.8, 7/8, 1 1/3, 2.1

58. – 9/2, -2.3, - 5/4, -1, 0.7, 4/3

59. – 1/5, -0.1, 0.21, 0.2 (2 over lined), 2.3, 8/3

60. -0.3 (3 over lined), -0.3, 0.3, 0.30 (30 over lined), 0.3 (3 over lined)

61. a) Maria: 13 at bats, 5 hits; Laura: 13 at bats, 3 hits; Jenny: 12 at bats, 6 hits    b) Maria: 0.385; Laura: 0.231; Jenny: 0.500    c) Sample answer: I would rand Jenny first, followed by Maria, then Laura. I think that the higher a person’s batting average is, the better the player is at hitting.

62. My friend

63. Sample answer: I do not see any repeating pattern of digits or any sign termination; 0.(0588235294117647 over lined); the calculator does not show enough decimal places for the repeating pattern to appear, since the pattern has 16 digits.

64. Sample answer: - 42/25; I wrote – 5/3 as the decimal -1.6 (6 over lined), then chose the decimal -1.68 because it is between -1.7 and -1.6 (6 over lined), and then wrote -1.68 as a fraction.

65. 53/165

66. -11

67. –m – 9

68. 4080

69. 180

70. 385

71. 189

72. 602,000,000,000,000,000,000,000

73. C

74. H

75. 475/999. Sample answer: First I let x = 0.(475 over lined). Then I multiplied both sides of x = 0.(475 over lined) by 10³ = 1000 since there are three repeating digits. This gave the equation 1000x = 475.(475 over lined). From this I subtracted the equation x = 0.(475 over lined) to obtain the new equation 999x = 475. Soving for x then gave x = 475/999.

Chapter 5 Section 2 Answers: pg 227 – 229 

1. Numerators

2. Sample answers: Write the sum of the numerators over the common denominator, 3. – 2m/3 is equivalent to -2m/3, so this gives 5m + (-2m)/3, which simplifies to 3m/3. Now divide out the common factor 3 from the numerator and denominator to obtain the answer m.

3. 8/9

4. 3/7

5. – ¼

6. 15 4/13

7. -12 1/8

8. -9 1/7

9. 1) 15/4, 7/4    2) 5 ½    3) No. Sample answer: Since ½ = 2/4, 5 ½ > 4 ¼.

10. 1 2/5

11. 1 1/19

12. -1 1/9

13. 1 2/7

14. 1/3

15. – 3/13

16. – 5/11

17. -1 1/17

18. -1 ½

19. -5

20. 14 1/5

21. 3

22. 5 3/11

23. -6 2/9

24. -5 ¼

25. -9 1/7

26. Sample answer: Only the numerators should be added. The denominator of the sum is the common denominator: - 3/7 + 2/7 = (-3 + 2) / 7 = - 1/7

27. 1 ½ h

28. 4 1/3 c

29. 3x/4

30. t

31. 1/p

32. 4/s

33. – n/3

34. – 4m/21

35. – 14/9a

36. – 9/d

37. 2 ½ in.

38. 1 5/9

39. 1/10

40. -1

41. 1 1/5

42. -2 3/31

43. -2 5/14

44. 2 ft, 8 ½ in.

45. Sample answer: - ¼ and ¾

46. 2/7

47. – 6/11

48. 1/6

49. 2 7/9

50. ¾

51. 6 2/13

52. a) first molting: ½ lb, second molting: ¾ lb, third molting: 1 ¼ lb, fourth molting: 1 ½ lb.     b) 4 lb     c) 7 ½ lb

53. 1 7/8. Sample answer: First I used the subtraction property of equality to subtract 7x/3 from each side of the equation and simplifies to obtain 5/8 = x/3. Then I used the multiplication property of equality to multiply each side of the new equation by 3 to obtain 15/8 = x, and wrote 15/8 as a mixed number.

54. c + 2.99 = 57.99, $55

55. 3s

56. 6/7t³

57. 13m²/16

58. 9a³/13

59. 18mn

60. 20s²t

61. 12a³b

62. 36v²w²

63. D

64. G

65. No. Sample answer: Because the overall length and width of the frame include two ¾ inch wooden strips, the space available for a picture has a length of 8 ¼ - ¾ - ¾ = 6 ¾ inches and a width of 6 ¾ - ¾ - ¾ = 5 ¼ inches, so a picture 7 inches long and 5 ½ inches wide is both too long and too wide to fit.

Chapter 5 Section 3 Answers: pg 233 – 235 

1. 6

2. Sample answer: First find the LCD of the fractions. Use the LCD to write equivalent fractions that have the same denominator. Then use the method for adding like fractions.

3. – 1/8

4. -1 1/12

5. 2 2/3

6. -7 1/12

7. 7a/30

8. 5b/24

9. 3a/2

10. – 31d/30

11. 1) 21/2, 14/3    2) 63/6, 28/6    3) 35/6; 5 5/6 lb

12. 13/48

13. 1/6

14. – 7/20

15. – 7/18

16. – 41/75

17. – 9/56

18. -1 13/21

19. – 1/55

20. 13/36

21. -1 7/36

22. 1 7/36

23. – 13/36

24. 6 13/20

25. 7 1/8

26. -2

27. 3 23/26

28. -14 1/6

29. 5 5/6

30. 2 79/84

31. 7 13/15

32. 8 7/8 in.

33. length: 4 1/8 in., perimeter: 13 in.

34. 2 1/8 in.

35. a) small: 3/8 in., medium: 3/8in., large: 3/8 in., extra large: 3/8 in.    b) 3 medium, 2 large, 1 extra large    c) Sample answer: I would make it so that there are no missing measurements in the chart by making small from 21 to 21 ½, medium from 21 5/8 to 22 ¼, large from 22 3/8 to 23, and extra large from 23 1/8 to 24.

36. 7d/18

37. – 2y/35

38. 4a/3

39. – 83r/88

40. – 33z/28

41. – x/24

42. – 29c/15

43. 13w/36

44. 7/20

45. 9 ¼

46. 5/12

47. 7/24

48. 4 37/40

49. -2 13/30

50. 6 33/64

51. Yes; yes. Sample answer: Using 48, the equivalent fractions are 42/48 and 20/48, so the sum is 62/48. Dividing out the common factor 2 from the numerator and denominator then gives 31/24, or 1 7/24. Using the LCD, 24, the equivalent fractions are 21/24 and 10/24, so the sum is 31/24, or 1 7/24. So using the LCD, you do not have to perform the additional step of simplifying in this case.

52. 5/2. Sample answer: I rewrote 1/x using the LCD as 2/2x. Then I added 2/2x and 3/2x to obtain 5/2x. I set this equal to 1 to obtain the equation 5/2x = 1, or 5/2x = 1/1, which I rewrote using cross products as 5 ∙ 1 = 2x ∙ 1 and then solved.

53. 6

54. 10

55. 18

56. 12

57. b11
58. c7
59. d-2
60. 3a4
61. 14 ft, 1 ½ in.

62. C

63. G

Chapter 5 Section 4 Answers: pg 239 – 241 

1. numerators, denominators

2. Sample answer: Use the rule for multiplying fractions to obtain a² ∙ 7a/7∙2. Then divide out the common factor 7 from the numerator and denominator to obtain     a² ∙ a/2. Finally, use the product of powers property to multiply a² and a, and obtain a final result of a³/2.

3. 15/32

4. 1/9

5. -6 2/3

6. -4 3/8

7. Sample answer: The product of powers rule was applied incorrectly. To find the product c² ∙ c4, you must add the exponents, not multiply them, so the result should be 4c6/35.

8. 5/16

9. – 1/8

10. – 7/24

11. 7/16

12. 22 2/3

13. -16

14. -11 ¼

15. 18 ¾

16. 5 16/19

17. 40 5/6

18. -35 ¾

19. 8 5/23

20. 2 lb

21. a) 98 7/16 ft²    b) Yes. Sample answer: Two coats will take enough paint for 2 ∙ 98 7/16 = 196 7/8, which is less than the 200 square feet the paint should cover.

22. $337.50

23. 3a²/55

24. 20b4
25. – 44c9/9

26. 3d12/52

27. 8x²/35

28. a6b²/18

29. a) 3/8 – 3/64y; 1, 21/64; 2, 9/32; 3, 15/64.    b) Sample answer: Since 1/16 = 4/64 and 3/32 = 6/64, there is still sufficient tread left after 6 years but not after 7 years, so the tires should be replaced sometime after 6 years.; 1, 21/64; 2, 9/32; 3, 12/64; 4, 3/16; 5, 9/64; 6, 3/32; 7, 3/64.

30. – 7/20

31. 0

32. 2 ¼

33. 2 7/8

34. -1 13/14

35. 145/363

36. a) 3/2    b) 3 ¾ c flour, 1 ½ tsp baking soda, ¾ tsp salt, 1 ½ c butter, 1 1/8 c white sugar, 1 1/8 c brown sugar, 1 ½ tsp vanilla, 3 eggs. Sample answer: The number of cookies I need is 3/2 the number that a recipe makes, so I multiplied the amount of each ingredient by 3/2.

37. 2.0 x 10²

38. 2.8 x 10-3
39. 2.0 x 10-4
40. 4.5 x 10-6
41. 54/625, 162/3125, 486/15,625. Sample answer: I observed that each term was 3/5 of the term before it, so I multiplied by 3/5 three more times to find the next three terms.

42. -8

43. 6

44. 45

45. -3

46. 1.2

47. 6.5

Graph 48-50

48. a > 70

49. b > -2

50. c ≥ -91

51. A

52. I

Chapter 5 Section 5 Answers: pg 245 – 246 

1. Sample answer: Since 0.25 = ¼, 0.25 ∙ 4 = ¼ ∙ 4 = 1.

2. Sample answer: First I would write 1 2/3 as the improper fraction 5/3. Then I would find the reciprocal of 5/3, which is 3/5, and multiply 2/5 by this reciprocal to obtain 2/5 ∙ 3/5. Then I would use the rule for multiplying fractions to multiply the numerators and denominators to obtain 6/25.

3. 1/8

4. – 3/2

5. 4/3

6. 2/5

7. 320/363

8. – 5/12

9. – 11/36

10. -1 22/35

11. 27/182

12. -28 4/5

13. 1/65

14. -5 7/13

15. Sample answer: 25/4 should not have been multiplied by ½, but by its reciprocal, which is 2, to obtain 25/4 ∙ 2/1 = 25/2 = 12 ½.

16. 39/40

17. -1 7/20

18. – 14/27

19. 1 15/19

20. 6 ¼

21. 2 20/53

22. -20 2/3

23. -1 13/99

24. -42 ½

25. -99

26. 10/847

27. – 8/189

28. 5 bookmarks

29. 6 lanes

30. 6/7

31. 2

32. – 20/33

33. 3 11/30

34. 1 2/3

35. 2 17/39

36. a-b should have a picture drawn a) 7 book covers    b) 8 book covers    c) (a) 1715 sheets; (b) 1500 sheets

37. 22. Sample answer: I multiplied each side of the equation by 11/6 so that the coefficient of x would be 1, and then I divided out the common factor 6 from the numerator and denominator of the right side.

38. – 1/9

39. 6

40. 15

41. 7

42. ¼

43. 7/15

44. 9/17

45. 3/8

46. – a/65

47. – 2b/11

48. –c

49. 19d/18

50. a) -2, +1, -3, +1 ½, +2 ½, 0, +1/2, -1/2; a positive deviation indicates a larger than average size; a negative deviation indicates a smaller than average size.    b) 0. Sample answer: The average size of the women’s shoes sold during the 2-hour period was 8 ½. A mean deviation of 0 means that, on average, the sizes of the shoes sold during the 2 hours did not differ from the reported average of 8 ½, so the reported average must have also been the actual average.

Chapter 5 Section 6 Answers: pg 249 – 251 

1. The number’s reciprocal

2. Sample answer: Multiply each side by the multiplicative inverse of 5/6, which is its reciprocal, 6/5, so that the coefficient of x is 1. This gives x = 6/5(2/7) = 12/35.

3. -36

4. -48

5. -1 2/7

6. 18

7. 16

8. – 5/8

9. 1) ant A: 10 ½ = 3/4t; and B: 11 3/8 = 7/8t    2) ant A: t = 14 sec; ant B: t = 13 sec    c) and B

10. Sample answer: Each side of the equation should have been multiplied by the multiplicative inverse of – 1/6, which is -6, not 6, because 6(-1/6) = -1, not 1. The second line should be -6(-1/6x) = -6(2/3), followed by x = -4.

11. 54

12. 40

13. -60

14. -48

15. -9/10

16. -1 1/3

17. -8/17

18. -1 2/5

19. 1 9/10w = 5, 2 12/19 ft

20. 11 2/3; 11 2/3. Sample answer: Since dividing by 3/7 is equivalent to multiplying by 7/3, the multiplicative inverse of 3/7, the methods are the same except that the division method requires the extra step at the beginning of rewriting the division as multiplication.

21. 54

22. 33

23. -20

24. – ¼

25. 3 4/5

26. 2/3

27. 2 2/3

28. 31/35

29. 2 1/3

30. a) 5/8 in.²    b) 3/4x    c) 5/8 + 3/4x = 1; x = ½ in.

31. 8 6/7 min

32. a) 1/5    b) 3750 spectators    c) 1000 home team fans

33. – 2/5

34. 1/6x + 1/12x + 1/7x + 5 + 1/2x + 4 = x, 84 y

Graph 35 – 37

35. y > 14

36. x < 7

37. z ≥ -3

38. school A

39. 5/12

40. – 11/24

41. -1 1/36

42. – 3/14

43. A

44. $576

Chapter 5 Section 7 Answers: pg 255 – 257 

1. LCD

2. Sample answer: Multiply by the power of 10 whose exponent is the greatest number of decimal places in any of the terms.

3. -24 ¼

4. 7 1/25

5. 3

6. -8

7. -4

8. 0.4

9. x > 2 11/14

10. x ≥ - 7/15

11. x < 2 3/8

12. Sample answer: Only the first term of the left side was multiplied by 6, but the entire left side should have been multiplied by 6 and simplified using the distributive property to give the equation 6(2/3x) + 6(5) = 6(5/2) and then 4x + 30 = 15.

13. 1/8

14. – 29/30

15. 19/30

16. 1 47/100

17. 1 16/17

18. -3 9/10

19. – 7/27

20. – ¼

21. – 19/70

22. 3

23. 2.2

24. 4.1

25. 1.25

26. 1.5

27. -4

28. -3.9

29. 1.2

30. -3.6

31. 5 paychecks

32. z < - ¾

33. k ≤ -68 8/9

34. f > 6

35. r > - 5/8

36. n < - 2/5

37. d ≥ 1 1/3

38. at least $900

39. 8 + j – 2/3j ≤ 18 or 8 + 1/3j ≤ 18; not more than $30

40. 36 days ( It will run out the night of the 37th day)

41. 19.95°C

42. Sample answer: To solve using multiplicative inverses, your goal is first to isolate the variable term. For 2/3x – 1 = 5/6, this means adding 1, first converting 1 to sixths, to obtain 2/3x = 11/6. You must then multiply each side by the reciprocal of 2/3, which is 3/2, and simplify to obtain the solution, 2 ¾. To solve by clearing fractions, your goal is first to eliminate all fractions by multiplying each side by the LCD of the fractions. For 2/3x – 1 = 5/6, this means multiplying by 6 to obtain 4x – 6 = 5, which you then solve by first isolating the variable term as before. This adds a step, but it allows you to avoid having to add and the multiply fractions.

43. 7 costumes

44. Yes. Sample answer: Any common denominator will work, though using the LCD will help avoid having to perform extra simplification. For example, multiplying each side of 1/2x + 1/3 = ¼ by the common denominator 24 gives 12x + 8 = 6, which has the solution x = - 1/6, the same as the solution obtained when multiplying each side by the LCD 12 to obtain to equation 6x + 4 = 3.

45. $2.73

46. 4/9(1/3x + 6) = 5/18x + 1/3

      54 ∙ 4/9(1/3x + 6) = 54 ∙ (5/18x + 1/3)


24(1/3x + 6) = 54(5/18x + 1/3)


24(1/3x) + 24(6) = 54(5/18x) + 54(1/3)


8x + 144 = 15x + 18


8x + 144 – 8x = 15x + 18 – 8x


144 = 7x + 18


144 – 18 = 7x + 18 – 18


126 = 7x


126/7 = 7x/7


18 = x

47. 120

48. -55

49. -36

50. -15

51. 44r/45

52. – 4s/21

53. 7t/3

54. – 5d/6

55. 10 h

56. A

57. I

